CIELABN1 standard lightness L*

L* Y=L w =

nc=100,

N(3,6)=23,L* ,(18)=50,L*/(90)=96

L*90=96,01,y=3,0, 1!/‘1/3 0=0,33
L*1g=49,71, 49

49
[*5=22,55 1% :49 71 =18

L* ,=49,71 m=50,02

L* ,=49,L* =50

1 range
1Y,=18

CIELABN1
tristimulus value difference

YaceL*w - ne=100,

dYo=13,45,y=3 ©, 1{=1/3,0=0,33
dY;5=4,60 S~115,49 D=-15,4Y
dY5%=1,56 Y,=100 dY=4,60 '

1v,=18
1 Yw=90

Ya23.6
log AY/Y)

CIELABN1
S=@avrY)

tristimulus value sensitivity
Yoc=L*w - nc=100,
log(dY/Y)= log[3,0(Y,/115)] - (1/3,0) log{/Y,)

= (1/3,0) log[3,0¢,/115)] - (1/3,0) logy)

application
S.range
(dY/Y)=0,1494=3,0, 14=1/3, 0 0,33
(dY/Y)g=0,2555 §,=115,49 D,=+15,49
(dY/Y} =0,4361 Y,=100 dY=4,60
'y,=18
1 Yy=90

=
=50, dY,=4,60 dY,/Y, 02555: >

YN=3.6
log (Y/AY)

CIELABN1
C,=(Y/AY)

tristimulus value contrast
YaceL*w - ne=100,

L* cieLaBn1 =116 (Y/Y) Y3016 (Y,=100, Y, o/100<Y<=Y,)
log(Y/dY)= - log[3,0(,/115)] + (1/3,0) log{/Y,,)

= - (1/3,0) log[3,0(,/115)] + (1/3,0) log{)

* =50, dYy 460 A /dY =3
10g(Y/dY)=0,59 my= 0/33, o

1
(Y/dY}5=6,69,y=3,0, 1§=1/3,0=0,33
(Y/dY)g=3,91 §=115,49 D,=-16,49 application
(Y/dY} 6=2,29 Y,=100Q dY=4,6Q range

17,=18
Yw=90

Yn=3.6

L* cieLagn1 =116 (YY) Y32-16  (Y,=100, Y,/100<Y<=Y,)
L*

application

L* ceLagn1 =116 (YY) Y32-16  (Y,=100, Y,/100<Y<=Y,)
log(dY) = (1/3,0) log[3,0¢,/115)] + [1-(1/3,0)] logY)

application
range

L* CiELABn1 =116 (/Y3016 (¥,=100,Y,/100<Y<=Y, )

Iy

CIELABNL1 relative standard lightnessL*/L* ,
LA

YocmL*w =

nc=100,

L* CiELABn1 =116 (/Y3016 (,=100,Y,d/100<Y<=Y, )
L* (3,6)=23,L* ,(18)=50,L* y(90)=96

L* c/L* =1,93 y=3,0, 14=1/3,0=0,33 &
,00

§7115,49 D,=-15,49
L*34L* =0,45,1%,=49,71 ¥=18

application
range
1y,=18

Yy=90

L*/L* J=1, my=—.%0
L*,=49, L*,=50

Y236
log(AY/AY,)

CIELABN1 relative
INTNA

tristimulus value difference

Yoc=L*w - -nc=100,

L* CiELABn1 =116 (/Y3016 (,=100,¥,d/100<Y<=Y, )
log(dY/dY,) = [1-(1/3,0)] loglf/Y,)

dYeqdY=2.92=30, 11/—1/3 0=0,33
dY,¢/dY,=1,00 §=115,49 D,=-15,49
dY5 HdY,=0,34 Y, 1oq dY=4,60

*,=50, dY,=4,6Q dY,/Y,=0,2555 /,'/ .

application
ange

1y, 18
5 log

Yn=3.6
log [(AY/Y) / (AYIY),]

CIELABNL1 relative
SHSu=@YMIAY),

tistimulus value sensitivity
Yoe=L*w -~ ne=100,

L* CiELABn1 =116 (/Y3016 (=100, Y,/100<Y<=Y, )
logl(dYM)I(AYY),] = - (1/3,0) logl/Y,)

(dY/Ypo/(dY/Y)=0,58,y=3,0, 1/=1/3,0=0,33
(dY/¥}o/(dY/Y)=1,00'§=115 49 Dy=15.49
(dY/Yy vV 1,\7(1\ h=100 dY=4,65 . = =

=3 range
log[(dY/YY(dY/Y),]=0, m/=-0,33

* =50, dY,=4,6Q dY,/Y,=0,2555

YN=3.6 | Yw=90

log [(Y/AY) I (YIAY),] CIELABN1 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,
L* CiELABn1 =116 (/Y3016 (=100, ¥,d/100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

(Y/dY}/(Y/dY)=1,70,y=3,0, 1§=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,0Q S=115,49 D,=—15,49
(Y/dY} g(Y/dY)=0,58 Y,=100 d¥=4,60

application
range
v,=18

Yy=90

YN=3.6



